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QUESTION 1

Given: You are performing a site survey using software that simulates RF behavior in a defined environment. It uses a
floor plan and materials information for its calculations. 

What kind of site survey is performed using this method? 

A. Manual 

B. Active 

C. Predictive 

D. Passive 

Correct Answer: C 

 

QUESTION 2

In what situation is an RF site survey LEAST needed? 

A. Office with 3 APs in a multi-tenant building 

B. Wi-Fi network with 100 APs at a hospital 

C. Telecommuters using a single "remote AP" at home 

D. Wi-Fi hot-spot with 10 APs at an airport 

Correct Answer: C 

 

QUESTION 3

When implementing a wireless LAN, what is the area covered by an AP and usable by a client station called? 

A. Basic Service Area 

B. Independent Basic Service Set 

C. Infrastructure Basic Service Set 

D. Service Set Identifier 

E. Basic Service Set Identifier 

Correct Answer: A 

 

QUESTION 4
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What is a difference between an Infrastructure Basic Service Set (BSS) network and an Ad Hoc network? 

A. In an Ad Hoc network, only one WLAN controller is used. A BSS allows multiple WLAN controllers to be connected
together to form a mobility domain. 

B. An Ad Hoc network allows only legacy security options such as WEP. A BSS allows the creation of a robust security
network (RSN) using security methods such as WPA2- Personal. 

C. A BSS is recommended for enterprise WLANs, while Ad Hoc deployments are recommended for small and medium
businesses. 

D. In a BSS, an access point is used for connectivity to the wired network infrastructure. In an Ad Hoc network, client
stations communicate directly with each other. 

Correct Answer: D 

 

QUESTION 5

Select the statement that correctly describes the Wi-Fi Alliance\\'s primary role in the WLAN industry. 

A. The Wi-Fi Alliance is a WLAN industry analyst firm that reports market trends and developments. 

B. The Wi-Fi Alliance ensures interoperability of band selection and power settings across regulatory domains. 

C. The Wi-Fi Alliance creates compliance standards around which vendors can develop products. 

D. The Wi-Fi Alliance creates recommended practices by which the IEEE can test and certify product interoperability. 

E. The Wi-Fi Alliance tests and certifies product interoperability based upon standards created by the IEEE. 

Correct Answer: E 
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